7y 7"7 '01n 2,2y Naw .7"'02

— %533 M3 2% K2 79 RY2 KD IR0 17w
Rovo did not query from Rav Nachman, only this much, etc.

OVERVIEW

The X 13 attempted to establish the Xn»92 (which stated K22 Jww M¥n IRW2A W0
nawa 2"Rwn 21 1™M201) in a case of 7N MR by 1"Y. The X3 asked how can we
explain that in a case of "M» X that on N2w he will be completely Mwo; for when
X211 queried 1" in a case if 172 AN 71 2797, it was only to determine whether he is
2™ one NXvI or two, but certainly there is no reason to assume that he is
completely M5, Our Moon explains why the X713 did not challenge this attempted
explanation from a 71wn instead of from a query of 2XX7nK.

mooin asks:
- HNN NIN 2990 1INRT NAY 92°¥ NIIYNT 3PP50nn d5991) NI INNN 9NN ON)

And if you will say; why does not the X n3 cite our 71w», which states that ‘one

who forgets the essence of naw is only 2°°17 one nxur’, regardless of how many MR

he did on many o°naw -
- 9591935 MV " XN

But he is not completely 5.

N150IN answers:
— 255059 55191 199ON NIYSTT A AT BIYNA N9 NPODNT KA SINRY 1Y NNIT 99919 U

And one can say; that it is preferable for the X713 to cite the query of 839, where
he is in doubt regarding the case of 1792 711 777 2%w:7 that perhaps he is 291 even

two mixur;® the (main) reason this is preferable is -
= YV 29D 13191 NNYYNIA 1N 9NN 9IIND XON IPIN 197

For when the X3 here chooses to establish the Xn>92 in a case of 2N “MIN, this

' This moo1n should follow the last N190I1N on this MR 7"7 , 7MY,
2 The X7m3 on 2,V cites this query. *"w1 here explains 17°2 1"\ 0%¥77 to mean that he assumed that 77302 nAw X, so he
is not aware that today is naw (a day in which work is prohibited) and he is not aware that the various n1ax?» are
70K on Naw. See 'on there 07¥n "7 who writes that 17°2 1"\ 09v17 is also in a case where he is unaware of any 10X
7oX77 at all. [The query was whether he is 211 only one nxun (as the rule is if one does many n1oX?7 on Naw because
he forgot today is naw), or is he 21 a nXvn for each 7o871 (as the rule is if someone is aware that today is naw but
was not aware that these N1oX972 are N110K). ]
370,
4 How can we assume that 7m» 2R is >3 Mo, when the mwn clearly states that naw 9Py n2wn (which is a
classical an mR) is 217 one n&vn?! Why cite 827, when we have an explicit 71wn?!
3 This seems to be an additional reason why the X713 cites 17°2 "1 09¥7; not only is he not >123% 715 (which we can
also know from the 7awn), but he may also be 211 for each 7o%%n (which the miwn clearly negates). See w"R27 '0In.
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means that he became temporarily unaware® that there is a naw and that there is an
Y 0N -

= 7999 YNYW9TD 1152 N NT OIYNT NINDIT 1 NY
Which is similar to the case of 1752 1"'37 2577 as I explained previously —

Mmoo explains why the 70 X by 1"y means a temporary unawareness:
= 1197 DAY NNY I DD INIWI 1IN 09T NTIAY MO O 17 Y1) XY ONT

For if he was never aware regarding the prohibition of serving 1"y, he is not a
bR at all since he accepts the "'y —

mooIn responds to an anticipated resolution:’
£ DD 721N 1PaY NAVIY PN PNRYnY PpnyTy

For it is awkward to establish this Xn»92 in the case of an infant who was

captured among the 2'15Y. Therefore we must assume that it was avw 5% an7vn1 which is
(more) similar to the case of 17°2 1" 0%y (than to naw Py nOW).

SUMMARY
The cases of N1 IR here is where it was yw 9% 1nbyni therefore it is more
comparable to 17°2 1"\7 %Y1 than to Naw P IWw.

THINKING IT OVER

nvon writes that it is a P17 to establish the Xn»12 in a case of 7°2% 7awiw Pwn
a"™>2vi. However previously (on X,70 77) the X723 initially established the 71wn by a
21 mawaw pon, why therefore is it a pm7 here?!!!

6 The ®xn»"1 is contrasting 1"y and Naw regarding 1N “X; by 1"V in a case of 1N MK he is 21; however by naw
he will be »13% Mws. The two cases of AN MR must be similar (in order to contrast nawn 1"v). Therefore just as by
1"y we need to say that it was 7yw 9% 1%y (as nwown will shortly prove), the same applies to naw. Therefore the
case of N MR here by naw is more similar to 17°2 1" 0%yn (which is a temporary 2%¥77) than to naw P noWwn
(where he was never aware of Naw).
7 See ovyn 1"7 X, 'O [TIE footnote # 5], where '01n distinguishes between naw 2y naw: (where he never knew of
naw), and 17°2 1"y 05w, which means the he temporarily forgot about the concept of naw. See footnote # 2.
8 mooin is presumably negating X9X 71"72 >"w1 who writes that 9017 MR means a "V PRW M201 01237 12 1PN I3
77n2. This, says Mmoo, is not a 73 at all. NHOIN also assumes that it is virtually impossible for someone growing up
among Jews not to be aware of 1"y MoK at all. Therefore we must conclude that a0 “mX here means that it slipped
his mind temporarily that there is an 1"y MOX.
° Perhaps 70 78 means he was never aware of 1"v or Naw because he was a 2™y 1722 7awIw PIN.
19 See ‘Thinking it over’.
!'See x"wmn and 0A7ax *191 AT X,
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